Whitman College 
Econ 394 
Final Exam 
May 15, 1993 



Write all answers in your blue book. 



1. (a) (40pts) Suppose the U.S. dollar-German mark spot exchange rate equals $0.51, and the one-year forward rate is $0.50 per mark. The yield on a one-year U.S. Treasury bill is 9% and the yield on a one-year German Treasury bill is 10%. Which, if any, country would you expect to face capital outflows? Explain. Show your work and thoroughly explain any formulas that you use. 


(b) (20pts) If the capital flows you predicted in Part (a) do not materialize, what factors might account for this failure? That is, what factors might cause a deviation from covered interest parity? Explain as completely as you can. 





2. (15pts) Define the current account balance. Describe how an economy may finance a current account deficit. 





3. (a) (65pts) Explain why in a Keynesian framework, fiscal policy under fixed exchange rates and no capital mobility is ineffective in stimulating real aggregate output. Be sure to explain any diagrams you use. 


(b) (10pts) Provide a one paragraph explanation of the result you showed in Part (a). Your explanation should be suitable for publication in a magazine such as Newsweek, which is read by noneconomists. 





4. (a) (65pts) Explain how in a Keynesian framework, monetary policy under flexible exchange rates and perfect capital mobility is effective in stimulating real aggregate output. Be sure to explain any diagrams you use. 


(b) (10pts) Provide a one paragraph explanation of the result you showed in Part (a). Your explanation should be suitable for publication in a magazine such as Newsweek, which is read by noneconomists. 




5. (75 pts) Answer one of the following. 



(a) Explain as completely as possible the J-curve effect of devaluation under a fixed exchange rate regime. 


(b) True or false? Under a fixed exchange rate regime and no capital mobility, monetary policy is ineffective in stimulating real aggregate output, unless the central bank engages in sterilization. However, if the central bank sterilizes, then it can effectively stimulate real aggregate output indefinitely. Explain as completely as you can. 


(c) Using a Keynesian framework with explicit consideration of expectations, explain exchange rate overshooting under a flexible exchange rate regime. Be sure to explain any diagrams that you use. 

